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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.

1.

2.

This question paper consists of TWO questions.
Answer ALL the questions.

Number the answers correctly according to the numbering system used in this
question paper.

Clearly show ALL calculations, diagrams, graphs, etc. which you have used in
determining your answers.

Answers only will NOT necessarily be awarded full marks.

You may use an approved scientific calculator (non-programmable and non-
graphical), unless otherwise stated.

If necessary, round off answers to TWO decimal places, unless stated otherwise
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QUESTION 1

1.1 Solve for x, in each of the following:
111 2X-7x =0 (3)
1.1.2 2x(x—3)=1 (Leave your answer correct to TWO decimal places.) 4)
113 J1+x +5=x (5)
114 (x-3)(2-x) >0 (3)

1.2 Solve for x and y simultaneously

x2—2xy—-3y*=0 and 3x+y-2 =0 (6)
[21]
QUESTION 2
Simplify:
10n+3.5n—l
T5on? (4)
[4]
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111 2x*-7x=0 X=7
2x(x=7)=0 v x=0 @
112 | 2x(x-3)=1
2x* —6x-1=0
_ =b+4/b*-4ac
2a v'standard form
(0= -6 -4(2)(-1)
- 2(2) —
v'substitution
"= Bim ‘/x— Gim
4 ———
x=3,16 or x=-0,16 v'v' answers (4)

1.1.4 | (x-3)(2-x) >0
(x=3)(x—2) <0
CV:2and3

vV (x-3)(x-2) <0

v’ v solution 3)

113 | Vi+x +5=x
J1+x =x-5
(\/1+ x)z =(><—5)2

1+ x=x2-10x+25

v’ squaring both sides
v' standard form

X* —11x+24=0 v factors
(x—8)(x-3)=0 v both answers
X=8 or x=3 v x=8 ()
S X=8
1.2 x2—2xy—3y?=0 and 3x+y-2 =0
3X+y-2=0 and ...... Q)
and X2 —-2xy-3y?=0 ...... (i) Vy=-3x+2
y=-3X+2 ....... (iii) v subs.
X2 = 2x(-3x+2)-3(-3x+2)° =0 v standard form
( )= ) v factors

x? = 2x(-3x+2)-3(-3x+2)" =0
X2 +6x° —4><—3(9>c2 —12x+4)= 0
Tx2 —4x—27x*+36x-12=0

v both x- values
v both y-values

6
—20x%+32x-12=0 ©)
5x?—-8Xx+3=0
(5x—1)(x—3)=0 X==o0r x=3
7
y=- (—]+2=g or y=-3(3)+2=-7
[21]
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2 107257 (5x 2)"+3 - v’ bases as prime

— = 5 numbers
50™ (52 x 2)“* v simplification (
adding exponents)
(5x2)"" 5" v simplification
T ni2 (subtracting
(52 X 2) exponents)
5I1+3 2n+3 5!‘1—1 v’ answer (4)
X .
52n+4.2n+2

_ 52n+2—(2n+4] 2n+3—(n+2)
— 52n+2—2n—4 2n+3—n—2
=572

_2
25

[4]




